Shelves ~<
This problem gives you the chance to: . l 1

* solve problems in a spatial context
* identify and distinguish the four point graphs related to this situation

Pete is making a bookcase for his books and other stuff.
He already nty of bricks and can get planks of wood for $2.50 each.

Each plank of wood measures 1 inch by 9 inches by 48 inches. Each brick measures 3 inches by 4.5
inches by 9 inches. :

For each shelf, Pete will put three bricks at each end then put a plank of wood on top. The diagram
shows thre es.

I3 inches

1. Pete wants five shelves in his bookcase.

a. How many planks of wood does he need? S

b. How many bricks does he need? 5 &)

c. How high will the shelves be? &} \nches apacx Tinthes Wl
d. How much will the bookcase cost? .50 7
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The diagram below shows graphs with the following descriptions: T 1
Description One: The cost of the bookcase against the number of shelves. '
Description Two: The number of bricks against the number of shelves.

Description Three: The height of the bookcase against the number of shelves.

Description Four: The width of the bookcase against the number of shelves.

The equations of the graphs are é
y =48, y=10x, y = 6x, y=25x
100 ¢
90 : l
80 <
70 L
60 —— N
+ en
HB
50 A \ 4 A A \ AC
oD
40
30 —e— l T
20 ——— T & ? \
10 ? : ; _¢—
0 ————f / |
0 1 2 3 4 5 6 7 8 9 10
Number of shelves
2. Complete this table to match each graph with its description and its equation.
Graph letter Description number Equation
A 2 v=10x
B A v=lox
C 4 v=9€
D | v T SX
S
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Shelves

This problem gives you the chance to: I 2

* solve problems in a spatial context
* identify and distinguish the four point graphs related to this situation

Pete is making a bookcase for his books and other stuff.
He already has plenty of bricks and can get planks of wood for $2.50 each.

Each plank of wood measures 1 inch by 9 inches by 48 inches. Each brick measures 3 inches by 4.5
inches by 9 inches.

For each shelf, Pete will put three bricks at each end then put a plank of wood on top. The diagram
shows three shelves.

I3 inches

1. Pete wants five shelves in his bookcase.

5

a. How many planks of wood does he need?

b. How many bricks does he need? 30
¢. How high will the shelves be? 5};/)
d. How much will the bookcase cost? $1z.50
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The diagram below shows graphs with the following descriptions: T2
Description One: The cost of the bookcase against the number of shelves.
Description Two: The number of bricks against the number of shelves.
Description Three: The height of the bookcase against the number of shelves.
Description Four: The width of the bookcase against the number of shelves.
The equations of the graphs are
y=48, y=10x, y=6x, y=2.5x

100 7
90 T
80 - &-
7 XT
60 <
I T o
LI
507 A A 4 t A f AC
oD
40
1+
30 ¢ T
. ®
20 ¢
+ R
oW 2 ! T -
0 1 2 3 4 5 6 7 8 9 10
Number of shelves
2. Complete this table to match each graph with its description and its equation.
Graph letter Description number Equation
A A V=6x
B r *=10x
c L y=4¢
D i )’ -~ 2 . Q v

Copyright © 2007 by Mathematics Assessment Page 7 Shelves Test8
Resource Service. All rights reserved. -




Shelves

This problem gives you the chance to: i 3
* solve problems in a spatial context b

* identify and distinguish the four point graphs related to this situation

Pete is making a bookcase for his books and other stuff.

He already has plenty of bricks and can get planks of wood for $2.50 each.

\
Each plank of wood measures 1 inch by 9 inches by 48 inches. Each brick measures 3 inches by 4.5

inches by 9 inches.

For each shelf, Pete will put three bricks at each end then put a plank of wood on top. The diagram
shows three shelves.

1. Pete wants five shelves in his bookcase.

a. How many planks of wood does he need? ké
b. How many bricks does he need? %4—
c. How high will the shelves be? 5 § '\’ S
d. How much will the bookcase cost? \ S
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The diagram below shows graphs with the following descriptions: I 3

Description One: The cost of the bookcase against the number of shelves.

Description Three: The height of the bookcase against the number of shelves.
edcppiien Four:~The Width 6f the-beOkease apat ber/yf .

The equations of the graphs are

y =48, Pl‘ora y = 6bx, <2.5x

100 —e

90 *—

"’ I

70 4

60 *»— |
LL on

mB
4

oD

R 1 ¥ ¥

40

30 —¢ -

T T 1411
? ]

0 1 2 3 4 5 6 7 8 9 10
Number of shelves

2. Comp:ete this table to match each graph with its description and its equation.

| Graph letter Description number Equation

A - Ly =\O%

:(OK

\,
C (GG

B
C I Q=4
D TS X

i
U/g c
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Shelves

This problem gives you the chance to: I 4

* solve problems in a spatial context
« identify and distinguish the four point graphs related to this situation

Pete is making a bookcase for his books and other stuff.
He already has plenty of bricks and can get planks of wood for $2.50 each.

Each plank of wood measures 1 inch by 9 inches by 48 inches. Each brick measures 3 inches by 4.5
inches by 9 inches.

For each shelf, Pete will put three bricks at each end then put a plank of wood on top. The diagram
shows three shelves.

I3 inches

1. Pete wants five shelves in his bookcase.

a. How many planks of wood does he need? 5

b. How many bricks does he need?

2
2 0
c. How high will the shelves be? 5@ AN,

d. How much will the bookcase cost? ﬁ l Z \ SQ
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The diagram below shows graphs with the following descriptions: I 4

Description One: The cost of the bookcase against the number of shelves.
Description Two: The number of bricks against the number of shelves.
Description Three: The height of the bookcase against the number of shelves.
Description Four: The width of the bookcase against the number of shelves.

The equations of the graphs are

y=48, y=10x, y = 6x, y=25x

100 4

90 &

80 f
. '

60 - 4

®A
_]:}
50
4 A
t R
40 L g
30 < —
20 —¢ T —e
®
o . / ’
0 1 2 3 4 5 6 7 8 9 10
Number of shelves
2. Complete this table to match each graph with its description and its equation.
Graph letter Description number Equation
A % v=10
B A VE
/
C Y psH
D Al v =38 x
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Shelves ——
This problem gives you the chance to: |5

* solve problems in a spatial context
* identify and distinguish the four point graphs related to this situation

Pete is making a bookcase for his books and other stuff.
He already has plenty of bricks and can get planks of wood for $2.50 each.

Each plank of wood measures 1 inch by 9 inches by 48 inches. Each brick measures 3 inches by 4.5
inches by 9 inches.

For each shelf, Pete will put three bricks at each end then put a plank of wood on top. The diagram
shows three shelves.

I3 inches

1. Pete wants five shelves in his bookcase.

a. How many planks of wood does he need? 5

b. How many bricks does he need?

W—‘ 19 BQPOR'] $'j>:"l?”

c. How high will the shelves be? gy
12,50
d. How much will the bookcase cost? / 2
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The diagram below shows graphs with the following descriptions: T5
Description One: The cost of the bookcase against the number of shelves.
Description Two: The number of bricks against the number of shelves.
Description Three: The height of the bookcase against the number of shelves.
Description Four: The width of the bookcase against the number of shelves.

The equations of the graphs are

100 ?
90 ——
80 —&—
70 ——
60 —N
T o
AB
50 C i AC
oD
40 ? 3 ;
30 —- #
A <41 !
20
10 .
LL ¢
o 4— v ’
0 1 2 3 4 5 6 7 8 9 10
Number of shelves
2. Complete this table to match each graph with its description and its equation.
Graph letter Description number Equation
A [Lse mleZ/Zn 2 7= 1Ok
B Lesrighion < y=Gex
C Description 4 y<{/%
D ,Dsm;ﬁﬁd? I Y=3.5¢ ,.
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Shelves
This problem gives you the chance to: S 1

* solve problems in a spatial context
* identify and distinguish the four point graphs related to this situation

Pete is making a bookcase for his books and other stuff.
He already has plenty of bricks and can get planks of wood for $2.50 each.

Each plank of wood measures 1 inch by 9 inches by 48 inches. Each brick measures 3 inches by 4.5
inches by 9 inches.

For each shelf, Pete will put three bricks at each end then put a plank of wood on top. The diagram
shows three shelves.

0

1. Pete wants five shelves in his bookcase.

a. How many planks of wood does he need? 5
b. How many bricks does he need? ?)D
c. How high will the shelves be? 5 o ndhes
d. How much will the bookcase cost? \ﬂ \ 9\ \ 50 _
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The diagram below shows graphs with the following descriptions: S 1
DeseriptionOnes=The cost of the bookcase against the number of shelves. ) |
m The number of bricks against the number of shelves.

Descriptien-Three: The height of the bookcase against the number of shelves.
Description Four: The width of the bookcase against the number of shelves.
The equations of the graphs are

gﬁy #=10x, r=6x, yp=2:5—.

100 -4
90 L g

80 T
70 L

60 —e »
1. *A
B
SOA;AAAT\XA N & 4 ac
i i
40 o
|
30 T
n e !
20 4+ - *
[ )
10 .. ®
IR
oW ’ ’
0 1 2 3 4 5 6 7 8 9 10
Number of shelves
2. Complete this table to match each graph with its description and its equation.
Graph letter Description number Equation
A e, W= \O X
B -~ duo W =lox
C (0\)‘( G=ubd
D =
ON\L {:> - \6>(
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Shelves .
This problem gives you the chance to: S 2

* solve problems in a spatial context
» identify and distinguish the four point graphs related to this situation

Pete is making a bookcase for his books and other stuff.
He already has plenty of bricks and can get planks of wood for $2.50 each.

Each plank of wood measures 1 inch by 9 inches by 48 inches. Each brick measures 3 inches by 4.5
inches by 9 inches.

For each shelf, Pete will put three bricks at each end then put a plank of wood on top. The diagram
shows three shelves. ().U\

Il

3 inches

“—

1. Pete wants five shelves in his bookcase. S

a. How many planks of wood does he need?

b. How many bricks does he need? 3 ('(

c. How high will the shelves be? SO,

d. How much will the bookcase cost? , L)b 5 -
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The diagram below shows graphs with the following descriptions: 82
DescriptionsQne; The cost of the bookcase against the number of shelves.
Description*Fwe: The number of bricks against the number of shelves. |
Description 3&eme: The height of the bookcase against the number of shelves.
Description Fggm. The width of the bookcase against the number of shelves.

The equations of the graphs are

=4l =l y=6x, y=25

100 —4
90
80
70
60 —
®A
50 B
p A AC
oD
40
30
20
10}— 4& ;T,
0 Wy v —- —
0 1 2 3 4 5 6 7 8 9 10
Number of shelves
2. Complete this table to match each graph with its description and its equation.
Graph letter Description number Equation
A S  Y=1ox%
B 2. y = lX
C Yy Y =~Y¥
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Shelves
This problem gives you the chance to: 83‘

* solve problems in a spatial context ,
* identify and distinguish the four point graphs related to this situation

Pete is making a bookcase for his books and other stuff.
He already has plenty of bricks and can get planks of wood for $2.50 each.

"Each plank of wood measures 1 inch by 9 inches by 48 inches. Each brick measures 3 inches by 4.5
inches by 9 inches.

For each shelf, Pete will put three bricks at each end then put a plank of wood on top. The diagram
shows three shelves.

3 inches

“—r

1. Pete wants five shelves in his bookcase.
a. How many planks of wood does he need? : 6
f)xléf \S b, How many bricks does he need? \n

@L\(/O;’\‘f) c. How high will the shelves be? SO Ve

d. How much will the bookcase cost? 6 $ \ @ ED
o= \Ov
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The diagram below shows graphs with the following descriptions: Sa
Description One: The cost of the bookcase against the number of shelves.
Description Two: The number of bricks against the number of shelves.
Description Three: The height of the bookcase against the number of shelves.
Description Four: The width of the bookcase against the number of shelves.

The equations of the graphs are

y=48, y=10x, y=6x, y=25x
100
90
80
70
60 e
Z(T as
50 HNB
AC
oD
40
30
20
ol 4 J/T/
0 : Y —
0 1 2 3 4 5 6 7 8 9 10
Number of shelves
2. Complete this table to match each graph with its description and its equation.
| Graph letter Description number Equation
A £ | (U= 1O
B = 3 , =X
c Ry u Ty L
D = A W =ROASY
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Shelves :
This problem gives you the chance to: 84

* solve problems in a spatial context
* identify and distinguish the four point graphs related to this situation

Pete is making a bookcase for his books and other stuff.
He already has plenty of bricks and can get planks of wood for $2.50 each. E

Each plank of wood measures 1 inch by 9 inches by 48 inches. Each brick measures 3 inches by 4.5
inches by 9 inches.

For each shelf, Pete will put three bricks at each end then put a plank of wood on top. The diagram
shows three shelves.

I3 inches

1. Pete wants five shelves in his bookcase.

a. How many planks of wood does he need? 5 éﬂn‘(\s |
i
b. How many bricks does he need? ?)O l)('\Q\'Q
c. How high will the shelves be? Ore. 0w %\\\ . 50 0, \V\ lchL :
7
d. How much will the bookcase cost? .-IS
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The diagram below shows graphs with the following descriptions: S4

Description One: The cost of the bookcase against the number of shelves.

Description Two: The number of bricks against the number of shelves.

Description Three: The height of the bookcase against the number of shelves.

Description Four: The width of the bookcase against the number of shelves.
The equations of the graphs are

y=48, y=10x, y=6x, y=25x

100 ) 4

90 y's

80 L 2

70 4
0 4 .
. B e

T A A A A A I ] A A AC

®A

oD

40 —e
30 —+——
20 j- ‘..?
RN

1 3 4 5 6 7 8 9 10
Number of shelves

2. Complete this table to match each graph with its description and its equation.

Graph letter Description number Equation
A ' y: e
B A Y= bx
C_ 4 Yz Hy
D - l y= Zu 5(
/
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Shelves

This problem gives you the chance to: S5

* solve problems in a spatial context
« identify and distinguish the four point graphs related to this situation

o

Pete is making a bookcase for his books and other stuff.
He already has plenty of bricks and can get planks of wood for $2.50 each.

Each plank of wood measures 1 inch by 9 inches by 48 inches. Each brick measures 3 inches by 4.5
inches by 9 inches.

For each shelf, Pete will put three bricks at each end then put a plank of wood on top. The diagram
shows three shelves.

I3 inches

1. Pete wants five shelves in his bookcase.

a. How many planks of wood does he need?

4%)9 o

b. How many bricks does he need?

¢. How high will the shelves be? / O% iNChe s
d. How much will the bookcase cost? ﬁ I i
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The diagram below shows graphs with the following descriptions: 85
/Beséiption One: The cost of the bookcase against the number of shelves. A
@‘F)escription Two: The number of bricks against the numbér of shelves.

\DY“ Description Three: The height of the bookcase against the number of shelves.

scription Four: The width of the bookcase against the number of shelves.

The équations of the graphs are
y=48, y=10x, y=6x, y=25x

100 *T

90 *>—
80 Jr
70 #

" 1.,
N RERER
r

T H
IEREREEN

0
3 4 5 6 7 8 9 10
Number of shelves

2. Complete this table to match each graph with its description and its equation.

Graph letter Description number Equation
A % . B \lL: Lb\}
B i | V] :M
C 0 L
VE H}
D ONL ( Q = D%
)
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Shelves |
This problem gives you the chance to: S6

* solve problems in a spatial context
* identify and distinguish the four point graphs related to this situation

Pete is making a bookcase for his books and other stuff.
He already has plenty of bricks and can get planks of wood for $2.50 each.

Each plank of wood measures 1 inch by 9 inches by 48 inches. Each brick measures 3 inches by 4.5
inches by 9 inches.

For each shelf, Pete will put three bricks at each end then put a plank of wood on top. The diagram
shows three shelves.

IB inches

1. Pete wants five shelves in his bookcase.

a. How many planks of wood does he need? 5
b. How many bricks does he need? 3o
c. How high will the shelves be? as”
d. How much will the bookcase cost? #13.90
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The diagram below shows graphs with the following descriptions: E ; 6

Description One: The cost of the bookcase against the number of shelves.
Description Two: The number of bricks against the number of shelves.
Description Three: The height of the bookcase against the number of shelves.
Description Four: The width of the bookcase against the number of shelves.

The equations of the graphs are
y=48, y=10x, y=6x, y=25

100 *T

90 Y

) T

70 —#‘*

60 -~
TT—

BaEel

i—>
—p-—i

i: TT
R

2. Complete this table to match each graph with its description and its equation.

LI

3 4 5 6 7 8 9 10
Number of shelves

Grap/h letter Description number Equation
A Y , g_;:'-\‘l
B > _u:z10x
C 3 %:Gm
D 1 | y=3hx
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Shelves
This problem gives you the chance to: S7

* solve problems in a spatial context
* identify and distinguish the four point graphs related to this situation

Pete is making a bookcase for his books and other stuff.
He already has plenty of bricks and can get planks of wood for $2.50 each.

Each plank of wood measures 1 inch by 9 inches by 48 inches. Each brick measures 3 inches by 4.5
inches by 9 inches.

For each shelf, Pete will put three bricks at each end then put a plank of wood on top. The diagram
shows three shelves.

I3 inches

1. Pete wants five shelves in his bookcase.

a. How many planks of wood does he need? N oankes
¢ :
b. How many bricks does he need? 0 l:\"\QYQ
c. How high will the shelves be? |Qn eack
d. How much will the bookcase cost? \ E)‘ 1 o :{ ) '
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The diagram below shows graphs with the following descriptions:
~Dreserptren-Ores The cost of the bookcase against the number of shelves.

Description Two: The number of bricks against the number of shelves.

Description Three: The height of the bookcase against the number of shelves.

—Deseripttomrfour: The width of the bookcase against the number of shelves.

The equations of the graphs are

y=48, y=10x, y=6x, y=25
100 ﬂ
90 S \—

80 Jr
70 4— f

60

50

]

4 4 4 +I

40 —

30 4+ | &

3 4 5 6 7 8 9 10
Number of shelves

2. Complete this table to match each graph with its description and its equation.

A
)
AC
oD

S7

| Graph letter Description number Equation
A = v- Oy
B 3 y= (oX
S Y _ ¥=48
D i Y:.QoSX
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Shelves

This problem gives you the chance to: 88

* solve problems in a spatial context
* identify and distinguish the four point graphs related to this situation

Pete is making a bookcase for his books and other stuff.
He already has plenty of bricks and can get planks of wood for $2.50 each.

Each plank of wood measures 1 inch by 9 inches by 48 inches. Each brick measures 3 inches by 4.5
inches by 9 inches.

For each shelf, Pete will put three bricks at each end then put a plank of wood on top. The diagram
shows three shelves.

I3 inches

1. Pete wants five shelves in his bookcase.

a. How many planks of wood does he need? g ’
b. How many bricks does he need? J?
c. How high will the shelves be? \F‘\’ bl\ﬁ X
d. How much will the bookcase cost? Q (53
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The diagram below shows graphs with the following descriptions: 38

Description One: The cost of the bookcase against the number of shelves.

Description Two: The number of bricks against the number of shelves.

Description Three: The height of the bookcase against the number of shelves.

Description Four: The width of the bookcase against the number of shelves.
The equations of the graphs are

y =48, y=10x, y = 6x, y=25x

100
90 4

80 —e

70 +—

60 ¢ "
oA
]3]

AC
T o

> -

1 Ayt

40 - -

. D S !

20

3 4 5 6 7 8 9 10
Number of shelves

2. Complete this table to match each graph with its description and its equation.

Graph letter Description number Equation
A s Y ~loX

B - O 228 .

C 4 y=4& :

D | v = 0k
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Shelves
This problem gives you the chance to: Sg

* solve problems in a spatial context
* identify and distinguish the four point graphs related to this situation

Pete is making a bookcase for his books and other stuff.
He already has plenty of bricks and can get planks of wood for $2.50 each.

Each plank of wood measures 1 inch by 9 inches by 48 inches. Each brick measures 3 inches by 4.5
inches by 9 inches.

For each shelf, Pete will put three bricks at each end then put a plank of wood on top. The diagram
shows three shelves.

[0

3 inches

50 . N

3
> 3. 30

1. Pete wants five shelves in his bookcase.

a. How many planks of wood does he need? 5
b. How many bricks does he need? 3 O
c. How high will the shelves be? 50 irf\ “—

d. How much will the bookcase cost? j L2‘ ’ 60
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The diagram below shows graphs with the following descriptions: Sg

~Deseription One: The cOST ofﬁmkeamgdw
Description Two: The numbes-efbriclks-egainstthe-number of Stretves—

The equations of the graphs are

Szt _psllxe— JEOX p=nS—
100 ﬁ
90
-
80 F
. {

60 N
| *
oo
*xT-
B~

0 R S ; 3
ST
NI, JIE,
10 e -

¥ TT

i 4 5 6 7 8 9 10
Number of shelves

2. Complete this table to match each graph with its description and its equation.

Graph letter Description number Equation

A ) , N 21D«

2 Y=oy

B
c L | y=u%b
b Al N = 2.5%

L

Copyright @ 2007 by Mathematics Assessment Page 7 Shelves Test8

Resource Service. All rights reserved.




Shelves

This problem gives you the chance to: S 1 0

* solve problems in a spatial context
* identify and distinguish the four point graphs related to this situation

T——
RN

Pete is making a bookcase for his books and other stuff. S
He already has plenty of bricks and can get planks of wood for $2.50 each.

Each plank of wood measures 1 inch by 9 inches by 48 inches. Each brick measures 3 Tches by 4.5
inches by 9 inches. \

For each shelf, Pete will put three bricks at each end then put a plank of wood on top. Tha dxagram
shows three shelves.

1. Pete wants five shelves in his bookcase.
a. How many planks of wood does he need? 5
b. How many bricks does he need? r 5

c. How high will the shelves be? {'og one. =2 5{)‘, A

d. How much will the bookcase cost? N \6 \’L 50

Copyright © 2007 by Mathematics Assessment Page 6 Shelves Test 8
Resource Service. All rights reserved.

A=
I




o

The diagram below shows graphs with the following descriptions:

Description One: The cost of the bookcase against the number of shelves.

Description Two: The number of bricks against the number of shelves.

S10

Description Three: The height of the bookcase against the number of shelves.

Description Four: The width of the bookcase against the number of shelves.

The equations of the graphs are

y=48, y=10x, y = 6x, y=2.5x
100 ?
90 *~—
80 {H
70 f
60
_{:]
>0 4 4 f A f AcC
 J»)
40 + +
30 — L T
20
l T ¢
IEREER
0 F L ¥ -7
0 1 2 3 a 5 6 7 8 9 10
Number of shelves
2. Complete this table to match each graph with its description and its equation.
Graph letter Description number Equation
A 7 (=10,
B = vw AR
C “ \A‘{Q e
\ A4
. D \UQ'L\ 9y
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